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pror stabilization of black cotton soil, the method used will be
() Mechanical stabilization (b) Lime stabilization
(©) Bitumenstabilization (d) Cement stabilization
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(C). Gravel (d) Boulder
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a) Define water content. 2
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"b) Draw phase diagram for partially saturated soil.
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c) Explain briefly the method of determining specific gravity by

pycnometer with sketch.
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a) Define Scepage velocity and Seepage pressure. 2
R an @ e @ o R o=
b) Wnte different reasons of weathering of rock. 4
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¢) Ifthewt.of aempty core cutteris 1286 &M and wt. of ﬁllcgi wng
soil sample is 3195 gm water content of soil sample s 10%an
internal volume of core cutter 1000 cm?. Calculate dry dcnsn}6’
of soil sample.
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4. a) Define D, forasoil 2
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b) State various factors affecting permeability. 4
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©)  Inthe constant head permeameter with c/s area of 10 cm?, when
the flow was taken place under a hydraulic gradient of 0.5, the

amount of water collccted in 60 sec is 600 cm?. Calculate
Permeability of soil, ;
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5. a) WhatisPhreatic line? 9
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b) Explain the necessity of soil stabilization. 4
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c¢) Explain Rankine's theory of carth pressure and its assumptions. 6
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6. a) Why ina sand replacement method lower portion of cylinder is

made conical? 2
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' b) Explain the procedure of determination of liquid limit of soil inthe
laboratory. 4
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A wall of & m height retains non cohesive back fill. The void rati;)
and anglc of internal friction of the back fill are 0.70 and 30°.
Calculate active and passive carth pressure of G = 2.70. 6
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State why in a triaxial test, the cylindrical sample is enclosed ina
membrane. 2
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What is cell pressure in a triaxial compression test.
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Explain Box shear test to find C-¢ value of soil. 6
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Define compaction. | | 2
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Explain factors contributing to shear strength of cohesionless
soil.
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